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15E3126-RI'
B. Tech. (Sem. V) (Main/Back) Examination, December - 2011
Electrical Engg.
5EE4 Generation of Electrical Power.

Time: 3 Hours]. [MaximumMarks: 80
[Min.Passing Marks: 24

Instructions to Candidates :

Attempt any five questions selecting one question from each
unit. All questions carry equal marks. Schematic diagrams must
be shown wherever necessary. Any data you feel missing suitably
be assumed and stated clearly. Units of quantities used/calculated
must be stated clearly. -

.Use of followingsupporting material is permitted during examination.
(Mentioned in form No. 205)

1.

1
..

1

NIL 2. NIL

UNIT - I

(a) Draw diagrams and explain the difference between open
cyCle and close cycle gas turbine plant.

8

(b) Discuss the economic feasibility of a pumped storage
scheme.

8

OR

(a) Draw and explain :

(i) flue gas flow diagram

(ii) water steam flow diagram of a thermal plant.
8

(b) Give the main features of Advanced Gas Cooled Reactor,
Pressurized water reactor and Boiling water reactor.

8

,.

5E3126-R] 1111111111111 1111 1111111111 1IIIIIIIIIIIImII 111111 1. 5 E 3 1 -2 6 - R . [Contd...



,~- ~'---""... =

UNIT - II

.2 (a) With suitable diagram explain Vapour Turbine Cycle of
converting geothermal energy into electrical energy. What
are the disadvantages of geothermal energy ?

(b) Explain Green House effect.

OR

2 (a) Discuss the impact of thermal and hydro' power stations on
the environment.

(b) ,Compare Renewable and non renewable energy sources.,
'8

.' c

UNIT - III

3 (a) What is the difference between chronological curve and
load duration curve? What is the necessity. of load
forecasting?

, 8

(b) The annual load duration curve of a small hydroplant shows'.
438 x 104 kwh of energy during the year. It is a peak load
plant with 20% annual load factor. Find station capacity.
If plant capacity factor is 15% find reserve capacity of the
plant. .

OR

3
~

.. '.
(a) Discuss the causes and effects of low power factor.

8

(b) Find the power factor of an installation supplying the
following loads: 300 kW at unity power factor, 1000 kW at
0.9 lagging power factor and 1500 kW at 0.8 lagging power
factor. Also find the maximum load at unity power factor
which can be supplied by this substation.

,
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UNIT - IV

4 (a) What is depreciation reserve? Why is it necessary to
maintain it ? Discuss the method to calculate the depreciation
reserve.

(b)
8

Calculate most economic power factor when kVA demand is
kept constant.

8

4

OR

(a) Differentiate between fixed and operating cost of power
plants. List various items which contribute to the fixed and
operating costs. '

8
(b) Why is it not economical for consumer to raise power factor

to unity? How can the most economical power factor be
determined for a consumer installation.

8

5 (a) Discuss different types of tariffs used for charging the
consumers' of electric energy.

10
(b) Two monthly tariffs are offered

(i) Rs. 3000 + Rs. 0.90 per kwh
(ii) Rs. 3.00 per kwh.
At what consumption per month tariff (i) is more suitable
for consumer.

.
6

5

OR

(a) What is the special feature of two part tariff ? For which
category of consumer it is used?

6.
(b) An industrial consumer has an annual energy consumption

of 2U1500 kwh at a load factor of 0.35. The tariff is
Rs. 9000 + Rs. 1200 per kw of maximum demand + Rs. 2.20
per kWh. .
(i) Find his annual bill .
(ii) What is the bill if total energy consumption is the same

but load factor improved to 0,55
(ill) What is the bill if energy consumption is reduced by

25% and load factor is 0.35
(iv) Find average energy cost in each case.

10
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